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(1-5) Read the following passage carefully and answer the questions given below it.

Speech is a great blessing but it can also be a great curse, for while 1t helps
us to make our intentions and desires known to our fellows, it can also, if we use
it carelessly, make our attitude completely misunderstood. A slip of the tongue,
the use of an unusual word, or of an ambiguous word, and so on, may create an
enemy where we had hoped to win a friend. Again, different classes of people
use different vocabularies, and the ordinary speech of an educated man may
strike an uneducated listener as pompous. Unwittingly, we may use a word
which bedrs a different meaning to our listener from what it does to men of
our own class. Thus, speech is not a gift to use lightly without thought, but one
which demands careful handling. Only a fool will express himself alike to all
kinds and conditions of men.

1. Speechcanbe a curse becauseitcan...................
(1) reveal our intentions - (2) lead tocarelessness
(3) hurtothers (4) create misunderstanding

2. A'slip of the tongue' means something said ...............
Identify the right option to complete the sentence.
(1) unintentionally (2) wrongly by chance
(3) without giving proper thought (4) to hurt another person

3. Thebest way to win a friendis toavoid .................. in speech.
Choose the correct option to fill in the blank.
(1) ambiguity (2) verbosity
(3) promposity (4) irony

4. While talking to an uneducated person, we should use ...................
Identify the right option to complete the sentence.
(1) polite language (2) ordinary speech
(3) his vocabulary (4) simple words

5. If one used the same style of language with everyone, one would sound ..........
Identify the right option to complete the sentence.
(1) democratic (2) foolish
(3) boring (4) flat
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(6-10) The blanks in the following passage have been numbered 6 to 10. For each

9

10.

blank, four possible options are given. Identify the correct one for each blank.

First of all, it is important to understand........(6)........ people commit crimes,
....... (7)....... what are the motives which make people do things they would never
normally do? ...... (8)........ , a young man steals clothes from a shop: isit ....... (.
he 1s unemployed? A drug addict? Mentally disturbed? Next, it is essential to
consider whether punishment makes any difference or is it just .......(10)....... ,a
kind of revenge?
(1) how (2) when (3) why (4) where
(1) on the contrary (2) 1n other words
(3) consequently | (4) 1n summary
(1) Finally (2) That 1s to say
(3) Forinstance (4) In conclusion
(1) because (2) why (3) also (4) toknow
(1) asif (2) asitwas (3) assuch (4) asit were

(11-15) Read the sentences that are numbered at the beginning of each sentence

11.

P-1

in the following passage. Each sentence has an error. Identify the wrong
word/phrase and its correct one given together as one of the options.

(11) I wish to start that I am a student of class X at your school. I want to
request you for a blook on Chemistry. This book is, at present, not in the
school library. It is titled '"Modern Chemistry' by R. K. Gupta. But it is costly.
(12) It has a very good materials on Chemistry. All students like it. (13) The

~ matter has being explained very systematically and precisely. (14) The
language 1s simple and understanding. (15) It could greatly benifit all
students of chemistry. This is useful for preparing for competitive
examinations also.

(1) tostart —to state (2) that-—as
(3) Iam -1 was (4) of—from
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(1) has—had : _ (2) very-—so
(3) materials — material (4) has - have

(1) has being explained — had been explained
(2) systematically — systematic

(3) and — but

(4) precisely — precise

(1) simple—complex (2) The language — Language
(3) and - as well as (4) understanding — understandable
(1) could — shall (2) greatly — gratefully

(3) could — might (4) benefit — benifit

Copying in the examinationisa/an ......... . act.

Identify the right option to fill in the blank.

(1) moral (2) 1mmoral

(3) amoral (4) immortal

The problem must be studied ............... all angles.

Choose the correct preposition to fill in the blank.

(1) with (2) in (3) for (4) from

For the first week, the apprentice felt 'like a fish out of water.'
Choose the option which best expresses the meaning of the idiom underlined.

(1) disappointed (2) frustrated
(3) homeless (4) uncomfortable
(@ . | b
children who have had | good pre-school education
(c) - (d)
are most likely out to do other children at school.

The sentence is divided into four parts labelled as (a), (b), (¢), (d)
Identify the part of the sentence which has an error.

(1) (@ (2) (b)
3) (0 - @ @
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When I hived in Mumbai, I.............
Identify the right option to fill in the blank.

(1) usedtogo (2) wentto

(3) was goingto (4) had gone to
Sunil came to the college ................ than I.

Choose the correct option to fill in the blank.

(1) latter (2) latest

(3) later (4) late
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... the cinema once a month.

Out of the four sentences given below, Identify the sentence which has no

error in it.

(1) AsIwas sitting in my room, a snake appeared.

(2) When I was sitting in my room, a snake appeared.
(3) While I was sitting in my room, a snake appeared.
(4) IfIsitting in my room, a snake appeared.

T A hot to go out.

Choose the correct option to fill in the blank.

(1) too (2) very

(3) much (4) only
Weseldomsee.................. as others see us.

Identify the right option to fill in the blank.

(1) themselves (2) yourself
(3) itself | (4) ourselves

One who knows everythingis....................
Choose the correct one word substitution in the blank.

(1) omnipresent (2) omnipotent
(3) omniscient (4) omnivorous
You would like a cool drmk T R 2
Choose the correct question tag to complete the sentence.
(1) will you | (2) wouldn't you
(3) won't you (4) would you
There ... 5o e any petrol left in the car.
Identify the right uptmn to fill in the blank.
(1) was (2) were
(3) were not (4) wasnot
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Choose the right option to organize the words into a meaningful sentence.

P. McDonalds restaurants

Q. 1n India

R. now

S. there are

T. all over

(1) R-S-P-T-Q (2) R-T-Q-P-S
(3) P-Q-R-S-T (4) T-S-R-Q-P
I.........Johnto phone at three o'clock.

Choose the right option to fill in the blank.

(1) am expecting (2) hope

(3) wait . (4) am look forward

'All the world's a stage and men and women are merely players.'
The underlined phraseisa ........ccccoeeeneies

(1) Metaphor (2) Simile

(3) Personification (4) Alliteration
He............... his books on the table yesterday.

Identify the right option to fill in the blank.

(1) places (2) placed

(3) wall place (4) hasplaced
It started raining while we................... cricket.

Choose the correct option to fill in the blank.

(1) play (2) are playing

(3) were playing (4) will be playing

Gold, silver or lead, whichis .......cccu....... ?

Identify the right option to fill in the blank.

(1) the most precious (2) more preciﬂus

(3) precious (4) more than precious
[6]
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The train was derailed, tireesieesennes.... NOONE was hurt.
Choose the right option to fill in the blank.

(1)_ and (2) while
(3) yet (4) but
My parents wish ...................

Choose the correct option to complete the sentence.
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(1) what I should join a good college. (2). why I should join a good college.
(3) when I should join a good college. (4) that I should join a good college.

He borrowed money from his friend.
Choose the right antonym for the underlined word.

(1) loaned (2) lent

(3) gave (4) handed over
Coconut : shell

Letter: ?

Choose the correct analogy.

(1) envelope (2) courier

(3) stamp (4) transport

We shall present the medals to the winners.

Choose the correct passive form of the above sentence.
(1) The medals will be presented to the winners by us.
(2) The winners will take the medals from us.

(3) The presents will be given to the winners by medals.
(4) The winners shall take the medals from us.

'Global warming' belongs to fhe ............. theme.

Choose the correct option.

(1) Environment (2) Neighborhood

(3) International relationship (4) Humour

The moment ................... 1s lost forever.

Choose the right option to fill in the blank.

(1) whatislost (2) whenislost

(3) whereis lost (4) whichislost
[7]
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Read the following words focussing on the pronunciation of the vowel sounds.
bird, burn, learn, born

Now i1dentify the odd one out.

(1) bird (2) burn

(3) learn (4) born

The notice, '"Trespassers will be prosecuted' means..............

(1) People who do not use footpath to walk on the road will be punished.
(2) People who do not have passes are not allowed here.

(3) People who walk on this private land will be taken to the court.
(4) People who do unholy activities here will be punished.

‘AP jawan killed in Srinagar attack.’
The above heading is generally seenin...............
(1) anewspaper report (2) anotice

(3) an essay (4) aposter

Read the following statements labelled as P, Q, R, S, T to decide their sequence

to make a meaningful passage and then choose the right option.

P. When India's first Prime Minister, Jawaharlal Nehru, was watching a
performance at Delhi's Ramlila grounds, at the Red Fort, a fire broke out

1n a tent due to a short circuit.

Q. Thisincident inspired Nehru to initiate the awards.
R. The origin of the Bravery Award dates back to 2™ October, 195 T
S. He asked the authorities to constitute an award to honour brave children

from all over the country, and the tradition has continued since then.
T. Then, Harish Chandra, a 14-year-old scout, promptly took out this knife
and ripped open the burning tent, saving the lives of hundreds of trapped

people.
() S,Q,R,T,P 2 R,P,T,QS
3) R, T,Q,P,S 4 P,T,QS,R
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My sister ............ ...acar.
Choose the right option to fill in the blank.
(1) suggested I shall buy a car. (2) suggested I buy a car.
(3) suggested that I buy a car. (4) suggested that I shall buy a car.
Where...............2 Which hairdresser did you go to?
Identify the right option to fill in the blank.
(1) did you cut your hair (2) have you cut your hair
(3) did you have cut your hair (4) did you have your hair cut
The exam was quite easy .............. we expected.
Identify the correct option to fill in the blank.
(1) more easy than (2) easlerthan
(3) as easy as (4) theeasiest
What a big house! It's ................ enormous.
Choose the appropriate word to fill in the blank.
(1) unusually (2) absolutely
(3) completely (4) slightly

Your friend's car has never been stolen but perhaps one day it will be. You ask
your friend. How do you ask?

Choose the right option from the following.

(1) What will you do if your car was stolen?

(2) What will you do if your car were stolen?
(3) What would you do if your car is stolen?

(4) What would you do if your car were stolen?

I couldn't sleep. I was tired.

Choose the right option to combine the sentences into a meaningful sentence.
(1) Icouldn't sleep though being tired.

(2) Icouldn't sleep as being tired.

(3) Icouldn't sleep despite being tired.

(4) Icouldn't sleep even if being tired.
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Given n (A) = 5, n (B) = 7, then minimum number of elements that the set
A U B can contain (n (A) stands for nu_mber of elements of set A) is ...............
n(A)=5,n(B)="T7ewc5A U BS&® &oidn SR Raresre Sog. (n (A) evdme A 52008°

(1) 5 2) 7 (3) 12 4) 2

Consider the following statements :

(a) Every integer is a rational number.

(b) Some rational numbers are integers.

() Some integers are rational numbers, while others are not rational.
(d) Every noninteger real number is rational number.

Among above the true statements are.............

30D (IR0 IS e,

(a) O Y Sops XOrAD Sopads

(b) - §°) e¥¥0r3ah Sopsen Y Soped

(© 5% Y Sopgen eldriok Sogpes. 57, ess8eianh dopes 3
(d) 5 Trisops T T Sopy BB oy

DTG S SOTTOO e
(1) (a), (b) 2) (@),(),(d)
3) (a),(b), () 4) (), (), (), d

2
If 3 and —3 are the roots of the equation ax? + 7x + b = 0, then value of

AEREN...........

2

5 200a0 -3 ewax?+ Tx+b=0 B Wrcesvada+ bdess...............
1) 3 @) -8 3) 9 9 12

The values of k&, for which the roots of the equation kx (:'c -2J5 ) + 10=0 are
equal are.....owi i
Rx (x = 245 ) + 10 = 0 G0, SaPeres S50 €030 k D055 ...vevve..

1) 0,2 2 0,2 3) 0,++/2 (4) 0,-2
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A shopkeeper buys a number of books for Rs. 80. If he had bought 4 more books
for the same amount, each would have cost him Re. 1 less. The number of books
he bought are ............ A |

L Bt 5, 80 & 5 issen S, 1259 et ob uged 4 WiEses M
S0 (5O dte 5o tir. 1 B GG, 0D B 57 HISPE BOPg -.rvivreenenes.

(1) 20 (2) 16 (3) 18 4) 22

If Anil walked 1 km/hr faster, he would have taken 10 minutes less to walk a

~distance of 2 km. The rate at which Anil was walking initiallyis...............

(1) 3 kmph (2) 4 kmph (3) 5 _kmph (4) 6 kmph

28 1 2.50. Kot Sidpd o 200 o8 2 3:05. BRSHasiy (5580 HEN0E 38 Seaio 508
10 Qo0 B 283 POGD IR OB ESRERD DO ......rn e

(1) 330 [re. 2) 43.% [re.

(8) 5 8. /ro. (4) 635 /K.

A fraction becomes g when 1 is added to each of numerator and denominator.

: =R 1
However, if you substract 5 from each, it becomes 5 Then the numerator of the
fractionis ..iiii.eiees

2.5 Dino 6 &0, B © Wk 1 000 e Do % SHB0D. & 5 % RN o AN
% D000, 9D €3 PiHO G0, T ..evvvrereeens
(1) 6 ey (3) 8 @4 9

The sum of the ages of father and his son in years is 65 and twice the difference
of their ages is 50. Then age of the father in yearsis ...........
2.5 5.3 So000 B WP oW, © Wode 65 SendTeoso. PO HOERAND ZRHH0 T

5080055 5 353 GAk), A (SORBRFNOE) oo

(1) 45 (2) 40 (3) 50 (4) 55

The value of k, so that the system of equations 3x—y—-5=0, 6x — 2y — k=01s
consistent, will be ................

3x—y-5=0,6x—2y—k= Oéhﬁm%ﬁﬁﬁaﬁﬁhéﬁnbﬁgﬁ;kbm ...............
(1) 10 (2) 9 (3) 8 4 7
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A number consists of two digits. When the number is divided by sum of its digits,
the quotient is 7. If 27 is subtracted from the number, the d1g1ts interchange
their places. Then tens' place digit of that number is .

£ BoticBo Sopg & opgS's ecle ko & PRSI PIRes 7. S0es 27 % & Sops

000 Seveved & ey o8 SOPg LB :’ana:rgﬁsé IS0 TEEIRTD D ?.’:T:?J m&:ﬁa e 0. €900 858 maa;é‘
5550 0GR 508 . veveerene :

1) 6 @) 3 3) 4 4) 5

If 4x° — 6x— k is exactly divisible by x — 3, then value of Bis .ov.nonnnnno...
452 —6x—k R 0o x—33 DT gPRCSEED k DS ...

(1) 18 ©2) 24 3) 16 @) 21

' afy
w 2 & -
If @, B, y are zeros of polynomial 5x3 +2x2 — 3x + 50, then value of a+B+y 1S ...
apfy

@, B, y & 9t 5x° +20% — 3 + 50 GBook, BFereeo evaxd oy
(1) 25 (2) —25 (3) 10 (4) —10

=T b e SR

[fx?—3x2+x+ 1hasa—b,a, a+ b asits zeros, then value of ¢ is ............

x3—3x2+:7c+163::§L,W5ena-b,a,a+bmﬁaﬁmﬁ........
(1) 1 | 2 2 3) 3 (4) 4

3—\@ 3+~/§ :

The quadratic polynomial whose zeros are < SR

3J§3+\/_

SORD 9 8 50
- = 5&321‘ 23eTRIeS 5070 ..

(1) 25x2—30x+6 (2) 25x2+30x—6
(3) 25x2—30x—6 (4) 25x2+30x+6

If 5Sin%6 + Cos?0 =2, then positive value of Sinfis.............

- 58Sin20 + Cos20 = 2 503535 Sind G0, &5 DS ....uveenee..

1 ! A
% @ 5 4

5
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15

(4) 18

Cos6

(4)

4 3 A7
1 £ 2l e e
@z @ 7 ® 5
5 Tan®
Secl =— ¢ '
If Sec 1 then L+ TanZo valueissameas...............
5 Tan® |
Secl = — esasd 5~ o0 (308 TS D DOOSE BEAFKO ..t
1+Tan*“6 ; .
Sind Sect Cos@
() Sect ) Sind (3) Sin@

If 5Tana =4, then OBl - 8Cosa 185000

5Sina + 2Cosa

5 Sina — 3Cosa

STana = 4 Q03
5Sina + 2Cosa

2 i ' 4
(1) P (2) a (3) =
3 |

.?24'12+.i’.!.2

If Sin@ =

m

m2+n2

Siné = --\/= 30000 mSin@ + nCosf Jeo5 ..............
D) Jm+n (2) m-n

(3) .ng.}.nz | (4) Jmﬂ o

11 Sin70° 4 Cos53°

Value of =
7 Cos20° 7 Sin37° 4

11 Sin70° 4 Cos53°
7 Cos20° 7 Sin37°
(1) 4 ()9 | 3) 3

[13]
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If a 1s negative integer, then point (a, —a) liesin ..........

(1) First quadrant 22 (2) Second quadrant
(3) Third quadrant | (4) Fourth quadrant
'a’ 232009 Y SoP; LQBIPED (@, —a) &SN ...

(1) 25639 P&Ss (2) Tolss ;&8

(3) aesd s | (4)  ooms Ssse

The point lying on x-axis and equidistant from (3, 5) and (4, 2) is ...............
(3, 5) %0000 (4, 2) DEPEL B0 E7E0E" Hotar x-6KoD SO& DOESY ..vomrvvvreen
1) 17,0) : @ (6,0)

(3) (5,0) (@ 6,0

If (2, 1), (-1, 1), (-5, 3) are three vertices of parallelogram taken in order, then

fourth vertexis ............

74.

2.5 SEPCBE0-T0Y, Bare Rigsecen S (2, 1), (-1, 1), (=5, 3) esaass ool B .. ..

(1) (-2,3) 2 (2,3)

The ratio in which x-axis divides the segment joining (5, =7), (=1, 3) 1S ..ccevv.n.....
(1) 7:3internally (2). 5:1externally

(3) 7:3 externally (4)=5:1 internal_ly

75.

P-1

(5, =75 (=1, 3) Dot EIH Tgr pomrdy X-eo DGFECDANHD ..vvvvvvveeee.
(1) 7:3 et (2) 5:1zomr
(3) 7:3 oo (4) 5:1 ecdborr

If G (0, 0) is centroid of AABC with A (4, 3), B (2, 6), then coordinates C are .....
05 (S0 Ak, Totis g A (—4, 3), B (2, 6) w00k iotsds Sogse G (0, 0) s

C B0y, DEDEINLD <.
1) 2,9 2 2,-9
3) (2,-9) _ 4 2,9

[14]
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The slope of line passing through (—a, a), (0, a+av3 ) points.

(—a, a) (D, a+ ﬂ\ﬂ?—i) SO XD VD TP ..
1
M V3 @ a3 @ a @ 73

77. ABC and DEF are two similar triangles such that BC =4 cm, EFf=5 cm and
area of AABC = 64 cm?, then area of ADEFis ...............
AABC 30050 ADEF 0 365 (©¢ozre0 BC = 4cm EF = 5 cm 308a5» BC = 4 cm,
EF= 5 cm eox59E AABC 3700 = 64 3. 0. ADEF 3300 9.00. ©8'..............
(1) 100 cm? (2) 81cm?
(3) 25 cm? (4) 16cm?
78. In the figure below, | ADE =|B, AD = 6.8 cm, BE = 2.4 cm, EA = 8.6 cm and
BC=5.5¢cm. Thenvalueof DEis............... in cm).
308 %e55208° |ADE = | B %8050 AD = 6.8 20.20. BE = 2.4 30.20. EA= 8.6 20.2%.
BC=5.526.2. 20355 DE 835 ... (230.80.089
A
G.8 em
i ;,‘*7-"# 1)
B 5.5 em ¢
(1) 3.8 (2) 3.4 ~ (3) 3.6 (4) 3.7
. . AD 2
79. In AABC, DE is parallel to base BC with Don AB and Eon AC. If DB § then
BC _
3 AD 2
AABC & D, AB » E AC p DE $s70650 870 BC % éocter &0d $5805s —— =
- BC?
5 2 2 4
(1 2 2) 3 (3) 5 (4) =
P-1 [15] Turn Over
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In the figure below, D1is a point on the side BC of AABC such that | ADC = |BAC
Then CB x CDis................. | |
308 50308° D o5 BC  |ADC = | BAC es6ixer $08. 09t CB X CD=.........

A
~
B D 0
(1) CA (2) CA? (3) AD (4) AD>

AABC 1s a right angle in which IC = 90" and CD is perpendicular to AB. If

BC =a, CA=b,AB=candCD=p,then§+31§= -----------
AABC & BC=a, CA=b, AB = c 8055 CD =p, CD, AB % ecwo. CD = p ec50
1 & 1 =
oo
1 b 2
(1) pz (2) p (3) e (4) 2p?

In the figure below, PA and PB are the pair of tangents drawn from external
point P. CDis third tangent circle at 8. If PB=10cm, CQ =2 ¢m, then length of

308 15¢206° PA, PB e e Do) P oo e i 3y50pes CD e5:35:98 0 5% yoedd
A3 53850 PB = 10 0.0, CQ = 2 0.0, @ad PC= ..........

(1) 6cm (2) 10cm (3) 4cm (4) 8cm

[16}
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83. If TP and 7'Q are the two tangents to a circle with center O such that
IPOQ =110°, then |PTQ =.............

TP, TQ &> '0' oo m Ko H)sunss Ads 9y,dpe 26 |POQ =110° eocsss
PIO= .

(1) 60° (2) 70° (3) 80° 4) 1100

84. Two concentric circles are of radii 5 cm and 3 cm. Then length of the chord

of larger circle which touches the smaller circleis ..............

5 20.00., 3 20.00. TP Ko Tot> DY o HTes® v Mo Gy, LY @ I

(1) 7cm (2) 6cm (3) 8em (4) 9cm

85. A metallic sphere of radius 4.2 cm is melted and recast into the shape of a cylinder
of radius 6 cm. Then height of the cylinderis............

5 8570 0 4.2 0.20. TR0 S, &3 A5 ¥0R0D 6 250800, TR0 T e Smsiins

llllllllllll

(1) 27.44cm (2) 2.744 cm (3) 274.4 cm (4) 27.54 cm

86. The curved surface area of a cylinder is 264 m? and its volume is 924m3. Then

height of the eylinderis............

&8 S0 Gooly, e Fresin 264 0.0, D000 &3 BN SeBoSrean 924 $0.00.
TSR0 ..o : |

(1) 3m (2) 4m (3) 6m (4) 8m

P-1 | [17] Turn Over
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A rectangular sheet of paper 44 cm X 18 cm is rolled along its length and a
cylinder is formed. The volume of the cylinder so formed is equal to.............

(1) 2772 cm? (2) 2506 cm?
(3) 2460 cm? (4) 2672 cm?

25 QPSS 38 SPoden 44 cm X 18 ¥ P& esgrton ATESB00TI 50, eSS e
TR BFSH00 GR00k), 00 BEBPER0 ... |

(1) 2772 . 0. (2) 2506 s, o
(3) 2460 . 2e. 4) 2672 . Bo.

If the radius of the sphere is increased by 100%, the volume of the resulting

sphere is increased by ...........

2.5 RP¢00 Gooky, P00 100% o Dnds feas Gk, Jossourese ............ DI,
(1) 200% ' (2)  500%

(3) 700% (4) 800%

In the given figure, OA = OB =21 cm and |A0B =120°, The area of sector

A B
Yy
(1) 462 sq.cm - (2) 472sqg.cm
(3) 862 sq.cm (4) 464sq.cm

[18]
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The length of the minute hand of a clock is 14 cm. The area swept by minute

hand in 5 minutesis ...........

X NECURS0S® Diaope Hoes 14 20.00. TED Sd.0md & Swes T § Jware SEOS

P NI T TGO - vevesasans
144 154 154 LELS
(1) 3= cm? 2) = cm? (3) i cm? (4) = cm?

91. If the p'® term, ¢! term and r*® term of an Arithmetic Progression are

92.

93.

94.

95.

a, b, ¢ respectively, thena (g—r)+b (r—p) + ¢ (p—g) value 18 .... Q.

wmgﬁi‘éﬁsp;’:,q;&, r sores Sosma, b, cecsda(g-nN+b(r-p tclP-9
1 0 2 1 : (3) abc (4) pgr
n'! term nf. an Arithmetic Progression is given by a, = 3 + 2n. Then sum of

first 24 termsis ............

L5 esoSRAE n 9 BS0 @, = 3+ 2n e0ass st 24 SO INEO ..nenvev
(1) 682 (2) 692 . (3 672 (4) 700

The value of x for which 8x + 4, 6x — 2, 2x + 7 are in Arithmetic Progression

18 il

8x + 4, 6x — 2, 2x + T &5 oS m@mm:ﬂm 900D X DBID veneeerrenes

)= e @ = @ 9

Which term of Arithmetic Progression 121, 117, 113, ...ccooeennen. 18 1t8 first
negative term?

121, 117, 113, ............ oo5RES D00tk 2330635850 50

1) 31 (2) 32 (3) 33 4) 34

Which term in the Geometric Progression /3, 3, 3v/3, ......... is 7297
V3.3.33, ........ Hoe@eS® 20 550 7292

(1) 12 (2) 6 (3) 18 4 9

S G & 10) Turn Over
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The probability that year 2014 would have 53 Thursdaysis............

2014 505,55008" 53 Kxtiommmes ol BOEFED .. ...

1] en

) - 2 > 3 = 1
LR e, e ® > @

From a wel_l-éhufﬂed pack, a card is drawn. The probability that it i

anaCeIs .. i

EPIOTTP Seoi920Gid DTves ToEe %@me@mw B B IO A3 HOFFHD ...

e %) = 3) — i
s @ T3 @) 77 @ =

A fair coin is tossed for 3 times. If all the outcomes are either Heads or Tails,

Haneesh wins. The probability that Haneesh losses is ............

LS TEPR) 3 LR NG e L B0, B ST $ED DR RO e 1O LANG
BOFHD ... ;

DE @ 3 @ @

In a box there are tickets numbered from 1 to 90. One ticket is taken out at

random. What is the probability that the ticket has a perfect square number

on 1t?
;

&5 28 Dot 1 %00k 90 S5 Frabedsd Pomres ETmo. & F B0 ¥ Polo B T
PNB G Sops POt BogPSo

11" - 2E 3) 1 41
M. 55 ® 3) @ 5

Sangeeta and Reshma are playing a ganie. If probability of Sangeeta winning
1s 0.62, then probability of Reshma winning the gameis ............ :
90, Slnes 5 RN esttoTnD. Sois AT ADD S0gPig5 0.62 ex0ostd T e RO Sogrivgs
(1) 0.38 (2) 0.62 (3) 1.38 (4) 1.62

[20]
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The heat quantity required to convert 18 g of ice at 273K into wateris............

273K 525 &) 18 7. 150usi0 Qe Hrtekd STl SRR e
(1) 144 cal (2) 1.44k.cal (3) 97k. cal (4) 97 cal

The aquatic animals living In cnld zones like polar region are comfortable

. even when the 1and is covered by ice for months together. This is because ............

103.

104.

105.

Y=k

(1) the density of water is more than ice (0°C)

(2) the density of ice is more than water (0°C)

(3) the density of water does not depend on temperature

(4) either temperature or water 1s not a criteria for organisms.

B0 (Sromres, L (SreTrod’ Do Bl Do wotd S5l el ze Hoet e300 Sl

(1) B0W0 Pl B 3 o %S (0°C 3B)
(2) D3 Fo(D 5 wooww FolEd XS (0°C 28)
(3) 3 oD SR DoV LTS

(4) o =0, GBI PR BHOKS B T

The average kinetic energy of the molecules of a body tells us about the ...
(1) heat energy (2) internal energy

(3) temperature 3 (4) state of motion

SRS eruw SURE0 I 54 DROIPD) BBCUTICINE .ovvvvvees

(1) eses (2) eoBs5%s

(3) &S (4) nO3S

The saturated vapour surrounding the cool objects like flowers, grass, etc.
leads to............ J

(1) condensation " - (2) fog
(3) snowfall - (49 rain fall
ST, KA DAETO T W0t 95,0 & 0 DD D08 0B BOBNEHE B0R BE ...
(1) JoBEbeadns (2) 0w
(3) Noow (4) [
In a balanced equation, all the coefficients should be ............
(1) odd integers (2) even integers
(3) - small prime numbers (4) smallestinteger factors
2.5 OBl BRoNEeS R KesSrow, 3¢ & .. '
(1) @ Yrgoseen (2) 58 @'@os‘a:
(B) W5 @53 SOPge (4) SR YrTros roessren
[21] Turn Over
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106. The volume of carbon dioxide released when 6 ¢ of carbon combusts

completelyis............ .

(1) 22.41it - (@ 1121t

(3) given data is insufficient 4 22¢

6 (I o8y $3770M E55370 DOBSH0e RSN K55 B es:0e 5 BORTEMD /...
(1) 22.48. @2 11.28.

(3) FNIIFTToBONS 4) 22 .

107. Slaked lime paste used in Pans (pan Shﬂp) wﬂl become unusable, When it 1s
exposed to air for a few days because .. ::
(1) it converts into quick lime (2) 1t liquifies
(3): marble scales will form (4 it attractsfungus

80y THed® ESAMPACE> B%o W05 5 Sere e mOL $8THT w8 é@aaﬁs TR
$580%0. BN e ...

(1) asoom Srtoes ) Do Toveron
(3) SDotiso SHIS FeBetie (@) oxpes 353 00
108. When silver bromide is exposed to sunlight, it undergoes ............
(1) photochemical change . (2) thermal chemical change
(3) physical change (4) displacement reactmn
P50 BTRE 5 BrETeD & SRS B ot Wy ... ... ...
(1)  SPod BOPOKS W8 (2) c’:zqﬁﬁ@ctb?ﬁ e
(3) FEEIrEy (4) S (g W

109. In this chemical reaction, unbalanced AgN03 + X = Agy CrO4 + NaNQOy
'X' represents the following.

54 808 ¥OBrHRED B X' Bessd AgNO; + X — Ag, CrO, + NaNO;

(1) NayCro; @ . NayCrO,
(8) NazCT'EOT (4) Nﬂ2 Crzo_i
110. Addition of vitamin C and vitamin E to the food items help the dish to gain ........
: (1) more taste (2) more decorative look
(3) rancidity resistance ~(4) fragrance
€558 BIPTro e € 508ain Deodod E e Senidies S e 908 ot ......... =
(1) % & (2) Zodd ot doties
(8) D03 PYHesdo B %8 (4) oo BoTEsd

P-1 - ' _ [22] .
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Packed food will not spoil until the packet is opened due to this gas.
S0088 Deidsss sttt B35 DiOOBHD TP SOLED ST TOIIRY - vevvveen
(1) O, (2) N, @) Hsswa @ I,

Which one is the mirror image for the word 'INDIA'?

INDIA &5 3tp8 &89 [ 202300 el ?

(1) AIQUI (2) Maia (3) IMDIV (4 INAIV

The characteristics of the image formed due to a concave mirror of focal length
12 cm, when an object is kept 18 cm away from its pole are ............

(1) virtual, magnified and erect (2) real, magnified and inverted

(3) virtual, magnified and inverted (4) real, inverted and diminished
12 250,95, 000 SDRS TS &5yes T8 06 18 0.0, BFBeE” &) HoH 880w

OIEPLD

(1) - TFg, €520, AT oo

(2) Bo(Eclog, esR08, Ve &0

(3) HoELIBY, 5308, QT (BSDCLe

(4) HVoEKFoD, BoBotvds, Jz BFSdoeo

A student wanted to focus the candlelight on the board so that everyone was

able to read the board. So he bent an acrylic mirror sheet as if it appeared to be
8- '

(1) convex surface (2) concave surface
(3) plano convex surface (4) spherical surface

&5 TR0 eSsqg D G woTe PO &80 AR R0 313::&5 200 S T 25553 E:_é::@
5353;3;6335@ DOSIPEES Koo, B3 1o et 2.8 (388 (acrylic) S6end Hesd (sheet)
B4 200 BO00H KT TS ... |

(1) ot oo | (2) HHessesBeo

(3) Bode Xoermes Heo . (4) SEsoe

The manufacturer fixed the objective distance as 5 cm in a projector. To get

a 50 times magnified image on the screen, the distance of it from projector
should be....................

(1) 2.5m (2) 25cm (3) 10m (4) 200 cm

255 SorBrets 589 8585 5 cm 1 QBaxowedd t.8 RPBRRHLES 50 Beas esHBBRS DHEw
POt €3 (PRED B0k BN LROGHHOND BP0 ..euen e *
(1) 2.5 . (2) 25 De.0. (3) 10 . (4) 200 Do.20.
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The image formed due to a plane mirror will not obey

(1) the size of the image is always equal to the size of the object
(2) the objective distance is always equal to the image distance
(3) the image undergoes lateral inversion

(4) the size of the image is proportional to the size of the mirror

SROBE) B30 DO DG (SEN0LPIE SOOWD DoKoasdes

(1) 5550 50Ra00, (5ODow SORPeR Derylir SEIH55

(2) S0, SN0 BT AP SHTSED

(3) DD Ko 00 SPLORPTHID | |
(4) ESDow SoRPeai Btes HORTEITL W06 WIPOTR PO,
Tooth decay starts when pH value is lower than this value in human mouth.
RSP Fe36° pH Deid T+ PawSan Bt SoBEoide (SREeRsolsw.
Q) 7.5 ©2) 6.5 @) 56w > (1) 25

Refractive index gives anideaof .......... . .

(1) how hard or how soft the material medium is

(2) the density of the transparent medium

(3) the physical state of the material medium

(4) how fast or how slow the light travels in that medium

DSERSS HOra¥o T2 0TI $owoRoRR SIS KDouso.

(1) OISR $TPER0 o E)EET S0 B Job S50 EHD
(2) QUrFSED ol

(3) CUPRESTY S 2O

(4) CIFEESE" P Jo fore BE Dot TS (580

Sodium bicarbonate is added to some food items before they are heated because
(1) itenhances the rate of cooking

(2) 1t decreases the boiling point of water present in food

P-1

(8) 1t increases the boiling point to reduce cooking time
(4) 1t neutralizes acidic or basic nature of food to give more taste

§7Q) STPER00R0 DG WAool Bosos w038 Feoo BT Soo)eoks St ~ &b
(1) HESR0 DoFoBoE

(2) esi58508° &y D3 otalo 30 BAOWISO TRGTP BB 900 k238" XSO,

(3) e BRI 50 DOV WO BB 5 ITPTRe SRS

(4) 5@%‘&:&:@& e330 O U oXePR), é‘.’m?gﬁcﬁ) 558078 oow BN Seolaoko.

[24]

WWW.SAKSHIEDUCATION.COM




WWW.SAKSHIEDUCATION.COM

Q. Booklet A

Code

120. A student took four readings in an experiment with glass prism to find its

121.

122.

refractive index. She plotted a graph and got a straight line. The suggestion
you will give heristo............

(1) decrease the range of incident angles she has selected and take a few more
readings for |d .

(2) consider few more incident angles lower than her last selection

(3) consider few more incident angles greater than her last selection

(4) increase the range of incident angles she has selected and redo the
experiment

2.5 TV (222508 (82751 Hopasisns BAofs S0 ks .5 DTRG0 4 58 Seninold d Desike 503800
o5 Acon 2.5 58808 5290, L5 VY FAEIO LTSS v

(1) e B8 58S Sentnoe Hag e Bhon WOE™), Sdelbes |[d 576 HeS™SSTw.
@) e E:0570) D90 389 E'rs Dewd 53 By Dewded B8 57 508u0en DALIEL.
(3) e BBERS) D0 BB s Dewd K9 MKy DS’ B85, $83edew VOSSR

(4) 525 BBT, 58 Seannse B LG Do Sotis BEIPRD DASSH.

For a healthy eye, 'accommodation of lens' will be in the rangeof ..............

(1) 2.5cm to 25 cm ' (2) 25cmto 100 cm

(3) 2.5cmto 2.27 cm (4) 2.25cmto2.5cm
esEESOBI Kotdd 5ok 5tiePens FRoGed’ &8 ..ovvnnnnns

(1) 2.5 30.80. =25 >asR. (2) 25 20.09. =100 o,
(3) 2.5 0.5, - 2.27 0.0, (@) 2.2520.5. - 2.5 0.2,

Principal quantum number is established on the basis of this proposal.
(1) Electromagnetic energy can be gained or lost in discrete values.
(2) Atomic radi of different orbits are in ascending order.

(3) The width between any two successive orbits 1s constant.

(4) Number of subshells increases proportionately.

BTPS S0830 SoPg 5+ (S0 OIS egrberne Srarcloled
(1) sogsauiomm, o 38 Tsero B &arto A8 wexed®
(2) D Y o5 SEIFe Tgrgnases el [$os® ot
(3). (5, (5%, &3  Totd S¥ & 8% °0, SUHD

(4) 583 ff‘:r:ua:e: S0 eISoarHes’ Sotinis
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Out of 18 groups present in the long form of periodic table, this number of

groups were given family names.

D33 )0 €5 $IEEW 18 (riHos’, B [Bob Hopg BEBES (FHUd Sures Hevowre 35

BRPAIS K0P B8, THE.

(1) 6 2) 7

3) 12 | | 4 8

Screening effect, penetration power, atomic radius and nuclear charge will
affect =il

(1) electron affinity (2) electronegativity

(3) 1onization energy (4) metall;icfnﬂnmetallic nature

29oh OB TNt FSk Bgrdo, HBEPe TPEVPE0 000K SOl e [SEPRB $5D0
(1) oS e (2) JoE N33
(3) escoNbes B8 (4) &% [ sereis _

The groups who have the valencies =3, .+3’ -2, —1 respectively are known

—3, +8, =2, —1 Doz SORS [I%HS0 e ... ...
(1) V,III, VL, I 2) V,III, VI, VII
(3) III, V, VII, VI (4) III, V, VI, VII

Magnetic quantum value for 24* electronis.............

243 JESTR0K e90007,08 S0 SOPg DD ....evveene

(1) 1 i 2 -2

3) =1 4 O

Metal detectors kept in security zones work on the principlé o T R
(1) Ampere rule (2) Oersted

(3) Electromagnetic induction (4) -Fleming's right hand rule

58 SoosPes® BEes ATETEs Dok SSBPAcEs §%5 GREE SOBCH AOIRIS ...vvvevee.
(1) eschowb (2 wobRE |
(3) DeCUICD (53 (4)  0M HEDD eSS
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This much measure of current flows in our body which affects the

function of heart.

B3 SO D0 (ETTHE00 3080 B8508” 1ooBs 150 Bt esero StEos.

(1) 0.0024 A == - 0.07A

(3) 0.05A (4) 0.01A

The material which is 200 times stronger and 6 times Hgi‘lter than iron and
widely used in electronic devicesis............

(1) fullerene (2) nano tube

(3) charcoal | : (4) graphite

gooao 53 200 Cexw zoeiod :baﬁofm 6 DoBoew BE D 2T @c‘,ﬁuﬁ QEJ{:‘;" § so5Tost
DIOITPACILNBIY ;’ac:ﬂtb

(1) $e05 | @) Thurd

(3) +68% - @ R
The element which does NOT exhibit catenationis.............
(1) carbon | | (2) sulphur
(3) copper _ (4) phosphorous
@ca:eﬁﬁ%%oéﬁméo.......
(1) 365550 (2) KoBsds
(3) oA (@ e
Concentration of ore does not include ............
(1) Washing 3 . (2) | Froth flotation
(3). Magnetic separation s (4) Daistillation
| R o BEB0ES Ko e ...
Q) S sense (2) 555 @,
(3) eocisdm 0 wone (4) >dse
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132. Match the ores in A with extracted metals in B

A | B
1. Epsom salt ' (a) Hg
2 - Byrolusite - (b) Mg
3. "‘Magnetite S 8 (c) Pb
4. Cinnabar . (d) Fe
5. (Galena ' (e) Mn
A (8% mreogedd B 1o éﬁ:) 5508 2 Do
(1) 350 oo ‘ (a) Hg
(2) Eﬁswg;"geg - (b) Mg
(3) SIHEeS (c): Pb
(4) S (d) Fe
(5) W= | e) Mn .
(1) (e), (©), (@), (a),(b) | 2) (e), (b), (d), (), (a)
3) (b),(e), (), (@), 4 (®), (@), (@), @), ()

133. The IUPAC symbol for 1 16t elementis ..

116 & %0re%009% TUPAC Scisass ..
(1) Uub (2) Uuh (3) Uuo (4) Uus

134. When a solution is tested with a pH paper, the paper Eh{JWEd bright yellow colour.
The pH of the solution approximately ...

2.5 Eessass> pH S5’ 50300958y swa@écé;_gb 53039 Bold Dy, &3 (Toivend pH
DO BIBFEN® ovovis . E
(1) 4 @) 3 @) 5: @) 2

135. As per chemical acitivty, this is more reactive (based on type of bﬂnding).

BIPCIR 22085 550, S501e30D B TG0 0¥ WOPROS XOREND ...............
(1) HCI | =@ C |
(8) NaCl , 4 CH,

136. Number of hydrogen atﬂms-presént 1In cyclopentane are ...........

28 2oB5E° &0t 2pEaS wsrende Sogs....... ...

(1) -10 | @ 12
(3) 8 4 14

Pt ' 28]
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The catalyst required to get ethyl alcohol from ethene and wateris ...........

(1) Alkyl KMnO, (2) AcidicK Cr,O,

3) V. O and sunlight (4) PO,

B350 0000 Ao ol 536 ese), e BOSTED Do BIPCN 35555 ESBTACD é@jﬁc
(1) EKMnO, - 2) K Cr,0,

(3) V0, 08050 S87r5Erod 4) PO,

The time taken by a lamp to consume 1 kWh, which requires 40 watts when run
on 220V 1s......c i

(1) 10 hours ' 2k 2b hours

(3) 55 hours " e e e A0 hours

40W 33 SINSTRN ey 220 V fl:::.‘:. 5@&9&2@55 1.8 maﬁ' 90 3 mﬁi: E‘:&:wﬁ: DO

(1) 10 re. - (2) 25 io.
(3) 55 . v ey L4omR.

The power rating of an electric mntc}r which draws a current of 3A, when
operated at 120 V 1s..

120 V Diiogomyel 20008 5000 2.8 20685 3A 5006050 DICIPACHER065 T Jastishon
(1) 40W | (2) 540W
(3) 36W (4) 360W

The time required for a current to be established in a circuit depends
upon ........... - |

(1) itsinductance and resistance (2) 1nductance only |
(3) magnitude of the current . (4) theapplied potential difference
2.5 S00%06" DS (e D0BHIE BN eSS 5E SO ...........

(1) B 2580 6550 Q) S (BEes SR

(3) NS Saris H8HPea0 (@) HRPAWS PEJNS 20

The electromotive force is most closely related to...........

(1) electricfield intensity (2) * inductance

(3) potential difference (4) magnetic flux density
DGO 200 B2 0TI TP BB 190060 SOR SO ..........

(1) DExozsops 2 o

(3) S&Qcwd s (4) e 0B DT Fosd
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‘Two electric charges originally 8 cm apart are brought closer together until

they are 2 cm apart. The force between them is now greater by a factor of ...

8 cm &57508° &i%) Dot DTamees 2 CIm B0 DRI BN ESEPE T ;ax;s 220E0
DOR LD ...

M2 @ 4 T e

Lenz's law 1s a consequence of the law of conservationof ..........
(1) charge (2) momentum

(3) lines of force (4) energy

Do DOKRINID, B¢ Dy IOWRIPS eRSTIED ...

(1) esdEa (2) (EOI0d (3) eoesteren (4) %2
144.

A negative electrical charge ...........

(1) interacts only with positive charge

(2) interacts only with negative charge

(3) interacts with both positive and negative charges

(4) may interact with either positive or negative charge

2.5 230083 EOTFIHI0 <.

(1) S50 SrBa Seokioed _

(2) 20erdicd SPGB ¥ooked | ..
() &5, aaveFaTren ColiotdSar Sookiood

(4) &9, 22083 edaren Bodos3S® DS 2SR Seoiiood.

The nomenclature for O OH 1S..cee......
| |
_ CH,-CH,
(1) Dimeéthyl alcohol (2) ethan 1, 2 diol
(3) 1ol 2ol ethane (4) ethyl di alcohol

OH OH o095 Traolteahdd e
| l

CH, - CH,

(1) GAd ese 588 (2) ®eS1,2888

(B 12628655 | @) =z5ceestS
[30]
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Q. Booklet A

Code

The number of isomers possible for Hexane are ...........

3T9840 X OB &othdS e MJ&;TEJJ ..........

(1) 4= ) an s - (3) 5
Pick out the odd one.

(1) ethanoic acid , (2)
(3) vinegar (4)
51 BB TS 608 |

(1) 5ok esiie . (2)
(8) md (4)

4) 6

acetic acid

methyl carboxylic acid

S35 esioo _
23S 57038 esiioo

Ammonium cyanate on heating gives ...........

(1) Urea (2)
(3) Methyl ameno ketone (4)

SATHICIO oot 120 236 WIS DI ...

Methyl amine

Nitro cyanide and Ammonia

!!!!!

(1) oxroas 2) 23S

(3) 0 T 5% | (4) DS TG 90D TRTPITT
10% ethanol in gasoline is very much useful in ........... _

(1) medicated syrups ' (2) tablets for different ailments
(3) motor fuels . (4) explosives

FOS oY, 10% 56 ok 305, SIGIPIES ...

(1) erAxpoBaird . (2) DT T By

(3) TxmdZeEse (4) (oot Soropes

pKais a measurefor ...........

(1) potassium ion concentration 2)

(3) strength of a base (4)
pKa e5:5558 B8 SPodmotm ..........

(1) Serngioo esosrs mes | (2)
(8) v wes (4)

[31]

strength of an acid

neutralization proportionality

e;a?.:'ﬁ 29000

mfggﬁm SRR P00

Turn Over
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